
Stayman; Transfers; Check Back Stayman; Puppet Stayman 
 

 

 K 9 

 K 6 5 4 

 Q 10 9 8 7 

 A K 

 8 4 3  Q J 10 

 9 8  J 10 7 

 K 6 4 3  A 2 

 J 8 7 3  Q 10 9 6 5 

 A 7 6 5 2 

 A Q 3 2 

 J 5 

 4 2 

 

Board 1 : Dealer North : Love all – HB26 B9 
 
West North East South 

 1 Pass 1 

Pass 1NT Pass 2* 

Pass 2 Pass 4 

All Pass    Lead: Q 
 

1NT shows 12-14 HCP (in this case a poor 15) 2 is checkback. 2 shows 
4 hearts, it does not deny 3 spades 

 

 10 8 6 

 J 10 9  

 Q 3 2 

 K 8 7 3 

 A 9 5 4 2  K 3 

 K 2  A Q 8 7 3 

 9 7 5  J 6 4 

 Q J 9  A 4 2 

 Q J 7 

 6 5 4 

 A K 10 8 

 10 6 5 

 

Board 2 : Dealer East : NS vulnerable – HB26 B6 
 
West North East South 

  1 Pass 

1 Pass 1NT Pass 

2* Pass 2 Pass 

2NT All Pass   Lead: 8 
 

1NT shows 12-14 HCP; 2 is checkback. 2 denies 3 spades. West 
decides to play in 2NT 

 

 6 3 2 

 K J 7 2 

 5 4 

 10 9 6 3 

 Q 10 7  9 8 5 4 

 A 6  10 8 5 

 K Q J 8 2  10 9 3 

 7 4 2  J 8 5 

 A K J 

 Q 9 4 3 

 A 7 6 

 A K Q 

 

Board 3 : Dealer South : EW vulnerable 
 
West North East South 

   2* 

Pass 2 Pass 2NT 

Pass 3* Pass 3* 

Pass 3*             Pass        4  Lead: K 
 

2 is game forcing or 23/24 balanced; North uses “puppet” stayman; 3 

denies holding a 5 card major but shows at least one 4 card major; 3 

shows hearts and South bids the game. 4 makes 11 tricks when clubs 

break 3-3. 3NT goes one off as West holds the A as well as the ’s. 

 

 K Q J 9 

 9 6 4 3 

 10 9 4 

 K Q 

 A 6 4 2  10 5 

 A 8 5   7 2 

 A Q J 2  6 5 

 9 6  J 8 7 5 4 3 2 

 8 7 3 

 K Q J 10 

 K 8 7 3 

 A 10 

 

Board 4 : Dealer West : All Vulnerable – Hand 4 B8 
 
West North East South 
1NT Pass  2NT* Pass 

3 All Pass    Lead: K 
 
East’s 2NT bid is conventional and shows a weak hand with either long 
Clubs or Diamonds and has the advantage of making it very difficult for 
South to bid. In fact N/S can make 3NT……but can’t bid it. Instead West 
quietly goes one off in 3C for -100 and a good score. 



Stayman; Transfers; Check Back Stayman; Puppet Stayman 
 

 A K J 9 

 A 7 6 3 

 7 2 

 K 9 5 

 6 5 4  3 2 

 Q J 10 8   9 4 2 

 A 6 4  K Q J 10 

 J 8 2  Q 10 7 6 

 Q10 8 7 

 K 5 

 9 8 5 3  

 A 4 3  

 

Board 5 : Dealer North : NS vulnerable – HB8 B5 
 
West North East South 

 1NT Pass 2 

Pass 2 Pass 2NT 

Pass 4 All Pass  Lead: K 
 

2 is Stayman, asking for a 4-card major & guaranteeing he holds one. 2 

shows 4’s and possibly 4’s as well. 2NT is a game try and says that 

South doesn’t have 4’s, but must have 4’s (otherwise he wouldn’t use 

Stayman). With 4’s and 4’s North prefers a  contract and with a 

goodish 13HCP bids game. East leads KQ and a 3rd . Declarer ruffs, but 

if he draws trumps he is 1 trick short, he should therefore cash AK and 

AK and cross ruff in the red suits, he makes 6 trump tricks & the contract. 
 

 K Q 9 2 

 J 4 2 

 7 6 2 

 7 6 5 

 J 10 8 7 6  5 4 

 8 7  A Q 5 

 K J 5  A Q 4 3 

 J 10 4  A K Q 2 

 A 3 

 K 10 9 6 3 

 10 9 8 

 9 8 3 

 

Board 6 : Dealer East : EW vulnerable – HB11 B14 
 
West North East South 
  2NT Pass 

3 Pass 3 Pass 

3NT All Pass   Lead: 9 
 

3 shows 5+ spades and requires partner to bid 3. 3NT shows 4+ points 
and exactly 5 spades, with only 2 spades East passes. 3NT makes 9 tricks, 

4 loses 4 trump tricks and maybe a heart as well. 

 

 8 7 

 A 9 4 3 2 

 K 7 5 

 A 10 7 

 Q J 9 6 4  A K 5 3 

 J 6  Q 10 8 

 9 3 2  10 8 6 

 9 8 6  J 3 2 

 10 2 

 K 7 5 

 A Q J 4 

 K Q 5 4 

 

Board 7 : Dealer South : All vulnerable – HB11 B7 
 
West North East South 
   1NT 

Pass 2 Pass 2 

Pass 3NT Pass 4 

All Pass    Lead: Q 
 

2 shows 5+ hearts and requires partner to bid 2. 3NT shows 10+ points 

and exactly 5 hearts. South bids 4 because he has 3 hearts. 4 makes 10 
tricks, losing just 2 spades and a trump trick. 3NT is one off on a spade 
lead. 

 

 10 7 

 7 5 

 K 10 8 5 4 

 A 6 4 3 

 A Q 2  9 6 5 4 3 

 A Q 6   K 4 3 2 

 A 7 6 3  9 2 

 9 5 2  8 7 

 K J 8 

 J 10 9 8 

 Q J 

 K Q J 10 

 

Board 8 : Dealer West : Love All – HB8 B12 
 
West North East South 

1NT Pass 2 Pass 

2 Pass 2 All Pass  Lead: K 
 

2 is Stayman, asking for a 4-card major & guaranteeing he holds one. 2 

denies a 4-card major. 2 is a sign off. This sequence confirms that East 

has 4’s as well as 5’s in a weak hand. South starts with 3 rounds of ’s, 

declarer ruffs, finesses Q, cashes A & leaves the last trump out because 

it is a winner. He cashes AKQ & ruffs his losing  in dummy to make 9 
tricks. 



Stayman; Transfers; Check Back Stayman; Puppet Stayman 
 

 9 7 6 5 

 K 4 3 2 

 Q 8 7 6 5 

 - 

 4 3 2  A 10 8 

 J 9  Q 10 8 6 

 A 10  9 4 

 K Q 6 5 4 2  A 10 8 3 

 K Q J 

 A 7 5 

 K J 3 2 

 J 9 7 

 

Board 9 : Dealer North : EW vulnerable – HB8 B11 
 
West North East South 
 Pass Pass 1NT 

Pass 2 Pass 2 

All Pass    Lead: K 
 

2 is Stayman, asking for a 4-card major & guaranteeing he holds one, 2 
denies holding one and North passes. Note North was prepared for any 

response to his 2 enquiry, he would have happily passed any rebid by 
South. The most noteworthy card-play point here is that after drawing 
trumps declarer has one spade loser and the 3-3 break gives him a 3rd 
spade trick 

 

 A 9 4 

 A 9 8 7 

 10 9 6 

 A 6 5 

 10 8 7 6 5 2  K Q J 

 J 6  K Q 5 

 A Q 2   K J 7 5 

 7 2  8 4 3  

 3 

 10 4 3 2 

 8 4 3 

 K Q J 10 9 

 

Board 10 : Dealer East : All vulnerable 
 
West North East South 
  1NT Pass 

2 Pass 2 All Pass Lead: K 
 

2 shows 5+ spades and requires partner to bid 2. 

West is using the transfer to sign off in 2. Note 2 should make 9 tricks, 
but 1NT is one off if South leads the obvious club.  

 

 6 3 2 

 K J 7 

 6 5 4 

 Q 10 9 6 

 Q 5 4  10 9 8 7 

 A 10  8 6 5 

 K Q 10 9 3  J 8 2 

 J 8 5  7 4 2 

 A K J 

 Q 9 4 3 2 

 A 7 

 A K 3 

 

Board 11 : Dealer South : Love all 
 
West North East South 
   2NT 

Pass 3* Pass 3 

Pass 4                                All Pass   Lead: K 
 

3 is “puppet” stayman. 3 shows five hearts which North raises to game. 

4 makes 11 tricks whereas 3NT goes one off because West holds the A 
of hearts as well as a five card diamond suit. 

 

 K J 

 Q J 10 6 4 

 9 3 2 

 9 8 6 

 7 5  A 9 4 3 2 

 9 3 2  8 7 

 A K J 4  Q 7 5 

 A K 5 4  Q 10 7 

 Q 10 8 6 

 A K 5 

 10 8 6 

 J 3 2 
 

 

Board 12 : Dealer West : NS vulnerable 
 
West North East South 

1NT Pass 2 Pass 

2 Pass 2NT All Pass  Lead: Q 
 

2 shows 5+ spades and requires partner to bid 2. 2NT shows 8/9 HCP 
and exactly 5 spades. West passes because he has a minimum 1NT and 
only two spades. 2NT makes exactly after losing the first 5 heart tricks. A 
spade contract loses 2 heart tricks and 3 spade tricks.  

 


